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TDIPONT Y 502 KNP 71977 — He was reading a scroll while sitting
on a threshold

Overview

The M0°X of XN»MIXTM 7012 AR is only when one removes an object that
was entirely in one (2°2777) MW and transfers it to another (7°1°7) mw. If
however the article was only partially in one M7, for instance; if one end of
a pole was in a 1"177 and the other end was in the hand of a person in a >"77 —
[this is referred to as '17°2 172" — ‘it is bound in his hand’] - and he brought
in the entire pole into the "7, he is 7707 7 MWD, but 1312772 MOX. We are
713 in the case of 17°2 172X which is 77073 7 Mo, because you may do it
when 17°2 172X PX 1.e. it is entirely in the other mwA, which 1s 77107 17 70K,
If this case of 17°2 172X took place when the 0101 (X°X12) was in a n°on72,
then there are two reasons why it is not ¥n»71X71 710KX; 1) because he is in a
n*Hn3, and 2) because it is 17°2 173X, In order to be 10X, we would have to
make two M1, a) the 77T of 1772 1TMX X 0OX 17°2 172X and b) the 7771 of
(2"77) "7 R n9n0d. This is referred to as being M a 7712 7.

If we hold, however, that (n°22722) 775132 797773 1913 TR, then if it was 73R
17°2 and the (X°X¥1) 0°10% was in a n°91n72, then the person would be 2M, in
the aforementioned case, to bring the pole from the 1"717 to the n*on1o.

TTAD 7T MYEnn2 MR KDY PRPTD2 Ra® awRn oXY — You may ask:
According to 837 who maintains later in this P72 that by a n"9»7> the
251 were not 13 a 1T 719913, X271 said this -

(3,8 77 1apY) TOMRD WM KXY RY 923 — in the X°20 of; ‘a tailor may not go out
with his needle”’,

1752 17AR2 9w 91 999 B2 99K 50 KON R» — why do we mention 990,
which would indicate that the reason we are allowing him to roll up the
scroll, is out of respect for the wTp >an3, where in truth even if it were not a
790 but any object, it would also be permitted to retrieve it in a case
where it is partially in his hand

7329772 RDR 0K R? 17°2 173K 7R3 1990R7T — for even if it were entirely not in

his hand, the 912’8 would be only a 33397, since the X9p0X is a n*>n73, there can
be no RN»TRT MO°KR, and since here it is 17°2 170X so even if he were in a *";11 there would
be no XN 7IRT MK, if he were to retrieve this object from the 1"77 back to the 2’",‘11, SO
what would be the reason to prohibit him from retrieving the object. It could only be
because of a 77139 77°13, that is we are M3 in this case of a 7" 10X ,n"9n73, and then we

! See the 'm R,’ 97 1MP2 X2 as to where X271 made this statement.
2 See ‘Overview’
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have to be IMx again 17°2 17X PR VKR 17°2 17X, which makes it a 77°13% 77°1 and X2
maintains that by a n°2172 we are not 913 a 71 77

nYH1Ra2 NDIPORI KRYR 2PINY weR 98 — and it is impossible to interpret this
mwn only in the case of an n°9%9> npIPoN

(@@ ®,mx 7)) PRAIPYT RN PO AR P87 - as MaR concludes in the last pap
of 3°219%Y NDD7. The question is; why mention 790?

TIYRWRY 50 upT MY WY — we may answer that the reason that he
mentions 9%’ is not that we should deduce from it, that if it were not a 1790
it would be 70X to retrieve it, for this is not true, as we said before 31773 X2
7°1% 7701, rather the reason that he mentions 90" is to let us know —

TMONR 1793 TN PPN AN 990 995K — that even a '99' which is wTIp "ana, if it is
not partially in his hand it is "9®R to roll it back up,

2N MRT PR 927 3PIRY — to negate the opinion of Pwaw 21 who said
there in 217y noon

Maw 2R R 937 95 — any prohibition which is derived from a maw. i.e.
an 712771 MOX

WTIPT SaNnD "1p2 7AW WX — cannot stand in the face of w7y ’an>, and
according to this view, even if it fell out of his hand completely into the 2"77, it would be
permissible to roll up the 990, since it is only a Maw to carry from a 1"77 to a n°o»73. Our
mwn disagrees with ¥"7 and maintains that even a 790 from the wTpP °2n> can not be
retrieved when there is a J1277» Maw.

Summary
According to X217 who holds that 77°13% 77°1 P13 PR n°9n053, the 17 of this

21 RDIPORT DY XN o0 ,mawn, will apply to all objects not only for a 290,
because since he is in a 17°2 172X NPHNID, we cannot be M) an MOX, since
that would be a 77°13% 77°1. On the other hand, even a wmpn >anon 190, is
permitted to be retrieved, only when he is in a 17°2 1708 n°9170. If one of
these conditions is lacking however, it would be 70X to retrieve it.

Thinking it over
1. If we hold 777°13% 7913 33°713 n°%n102, what 0°3°7 would change in our case
of 131 XRDIPORT Py RN 77777

2. Why is RN»7IRT2 0D 1792 173K?



